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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 2326 2.6 0.8 3 85 99.8
2 2308 1.9 1.8 6 31.1 99
3 2331 7 1.5 9 78.2 100
4 2331 7.3 1.7 9 80.7 100
5 2321 4 1.2 7 56.5 99.6
6 2331 8.7 1.7 12 72.8 100
7 2303 4.7 1.4 8 59 98.8
8 2328 8.9 2.2 14 63.4 99.9
9 2328 8.2 2 12 68 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q. Total


2 (b) Suggest two ways in which an IT company can benefit from external 
economies of scale. 
 
Award up to 2 marks for each benefit correctly explained.          AO1: 2 marks 
 
Award up to 2 marks for application to an IT company.               AO2: 2 marks 
 
Indicative content: 
 
There may be numerous suppliers, which means that a business will find it 
easy to obtain the necessary supplies of computer equipment. 
 
There is likely to be a pool of skilled labour so that a business will find it easy 
to recruit well-trained staff with the necessary programming skills. 
 
There may be a college or university nearby that specialises in teaching 
relevant IT skills. 
 
There may be appropriate infrastructure, e.g. good transport links, 
communications, which make it easier for goods to be transported. 
 
There may be a wide customer base, as customers will know that this is the 
place to go to purchase what they are looking for. 
 
Any other valid suggestion and application 
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2



Sticky Note

In the first point the candidate does not clearly suggest this as educational economies of scale and is not credited any marks. The second point is a clear suggestion of an external economy of scale with sufficient application and therefore is awarded one mark for knowledge and one mark for application. 
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Sticky Note

Script B 
The candidate does not suggest a valid external economy of scale and therefore is not awarded any marks. The candidate does not make a second suggestion. 
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Sticky Note

Technical economies of scale and managerial economies of scale are both examples of internal economies of scale. Accordingly, the candidate is not credited with any knowledge or application marks. Despite the accuracy of what the candidate has written, it does not answer the question set. 









2 (b) Suggest two ways in which an IT company can benefit from external economies 
of scale. [4]


1.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


2.	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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SECTION B 
 


5 Discuss the ways in which social enterprises differ from other private sector businesses. 
 [7]


Band 
AO1 AO3 AO4 


2 marks 2 marks 3 marks 


2 


2 marks 
 


Good knowledge and 
understanding of social 
enterprises and other private 
sector businesses 


2 marks 
 


Good analysis of the 
similarities/differences 
between social enterprises 
and other private sector 
businesses 
 
Key characteristics well 
developed 


3 marks 
 


Good evaluation of the 
similarities and differences 
between social enterprises 
and other private sector 
businesses 
 
Well-balanced, supported 
judgement 


1 


1 mark 
 


Limited knowledge and/or 
understanding of social 
enterprises and other private 
sector businesses 


1 mark 
 


Limited analysis of the 
similarities/differences 
between social enterprises 
and other private sector 
businesses 
 
Superficial comments and 
limited development 


1-2 marks 
 


Limited evaluation of the 
similarities/differences 
between social enterprises 
and other private sector 
businesses 
 
One-sided, superficial 
discussion 


0 


0 marks 
 


No knowledge of social 
enterprises or other private 
sector businesses 


0 marks 
 


No analysis of the differences 
between social enterprises 
and other private sector 
businesses 


0 marks 
 


No evaluation of the 
differences between social 
enterprises and other private 
sector businesses 


 


Indicative content: 
 


Social enterprises consist of a wide range of different organisations whose activities range 
from recycling furniture to making chocolate. 
 
The main aim is not to make a profit and social enterprises do not have shareholders.  
However social enterprises still need to make a surplus in order to fund their activities, but 
they do not necessarily aim to maximise profit, especially if this conflicts with their other 
aims. A social enterprise tries to maximise the amount of social good it creates balanced 
against its financial goals. 
 
Social enterprises have some type of social aim, such as to provide support for local 
communities, protect the environment or to give jobs to unemployed young people. 
 
On the whole social enterprises are more concerned with ethics than for-profit businesses.  
They are concerned about the environment, the working conditions of workers, the plight of 
poor communities etc.  Whilst for-profit businesses may also be concerned with ethical 
issues, it is not their primary concern and, it could be argued that for them, when there is a 
conflict between profit and ethics, ethics takes the back seat. 
 
Social enterprises are often co-operatives that are owned by and operated for the benefit of 
all of their members. Customer might share the same values as the business.   
 


In some ways they are the same: both provide goods/services, might employ people, meet 
needs/wants, but in other ways they are different.  
 


Any other valid point. 
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Sticky Note

The candidate demonstrates knowledge and understanding of social enterprises and other private sector businesses through describing their different aims and making several correct statements throughout their answer. The overall impression is that the candidate’s knowledge and understanding is good and therefore is awarded two marks for this assessment objective. In terms of analysis, the candidate does contrast how social enterprises are different to other private sector businesses but overall this is superficial and lacked development of their points. The candidate could have developed at least one of their points further or perhaps recognise how social enterprises were similar to other private businesses. Therefore, the candidate achieved one mark for analysis. There is no evidence of evaluation in the candidate’s response resulting in zero marks being awarded for AO4. The total mark was 3/7. 
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A01-2
A03-1
A04-0 



Sticky Note

The candidate starts their answer with incorrect statements about social enterprises and private sector businesses, which is not creditworthy and is ignored so that the candidate is not penalised for the rest of their response. The candidate still achieves good knowledge and understanding for the rest of their response because they have made correct statements supported with appropriate examples. The analysis is limited, but is sufficient to be awarded with one mark since the candidate recognises the link between the activities of a social enterprise (firefighting charity) and the impact on society (less waste). This is low-level analysis and candidates would be encouraged to further develop their points. There is no evidence of evaluation in the candidate’s response resulting in zero marks being awarded for AO4. The total mark was 3/7. 
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Sticky Note

The candidate makes valid statements throughout their answer about social enterprises and other private sector businesses. The impression is that they show a good knowledge and understanding and therefore are credited with two marks. The candidate analyses well; there are clearly contrasts drawn between social enterprises and other private sector businesses which are explained well using appropriate terminology and examples from the stem. In terms of evaluation, the candidate provides a limited judgement by recognising that social enterprises and other private sector businesses ‘are worlds apart’ and ‘have completely different aims’. However, the rest of their summary is largely a repeat of what they had covered earlier in their response. Consequently, the evaluation is limited and was credited one mark. The total mark was 5/7. 
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SECTION B


5.	 According to the Social Enterprise UK website there are approximately 70 000 social enterprises 
in the UK contributing £18.5 billion a year to the UK economy and employing almost a million 
people. 


	 The Big Issue, the Eden Project and Jamie Oliver’s restaurant ‘Fifteen’ are examples of social 
enterprises. So are award-winners Divine Chocolate, a Fairtrade chocolate company co-owned 
by the cocoa farmers co-operative KuapaKokoo in Ghana and Timewise, an organisation which 
connects professionals with flexible employment opportunities.


	 Social enterprises operate in a range of industries:


•	 Cafedirect is the UK’s largest Fairtrade hot drinks company
•	 The Elvis & Kresse Organisation takes industrial waste materials, turns them into stylish 


luggage and hand bags and donates 50 % of the profits to the Fire Fighters Charity
•	 Hill Holt Wood educates at-risk youths in an ancient woodland 
•	 Central Surrey Health is a pioneering social enterprise in the healthcare world that is run 


by the nursing and therapy teams it employs.


	 Discuss the ways in which social enterprises differ from other private sector businesses.	 [7]
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6 (b) Discuss the ways that the various airlines might compete with each other apart 
from cutting their prices. [8] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 2 marks


2 


2 marks 
 


Good knowledge of 
the ways in which 
oligopolies can 
compete with each 
other 
 
The learner 
suggests at least 
two appropriate 
strategies 


2 marks 
 


Good application of 
oligopoly strategy 
to airline 
businesses 


2 marks 
 


Good analysis of 
the methods of 
competition 
 


2 marks 
 


Good evaluation of 
the methods of 
competition 
 
Well-balanced 
evaluation of one 
or two oligopoly 
strategies that 
might be used by 
an airline business 


1 


1 mark 
 


Limited knowledge 
of the ways in 
which oligopolies 
can compete with 
each other 
 
The learner 
suggests one 
appropriate 
strategy 


1 mark 
 


Limited application 
of oligopoly 
strategy to airline 
businesses 


1 mark 
 


Limited analysis of 
strategies that 
might be used by 
airline businesses 


1 mark 
 


Limited evaluation 
of oligopoly 
strategy 
 
One-sided 
evaluation of 
strategies that 
might be used by 
an airline business 


0 


0 marks 
 


No appropriate 
strategies 
suggested 


0 marks 
 


No application to 
airline businesses 


0 marks 
 


No analysis 
attempted of 
strategies that 
might be used by 
airline businesses 


0 marks 
 


No evaluation 
attempted of 
strategies  that 
might be used by 
an airline business 


 
Indicative content: 
 
There are various ways in which the airlines might compete.  They might offer greater 
choice, in terms of where and when they fly to and from.  If an airline has a greater number 
of destinations it stands to reason that it will attract a greater number of passengers as long 
as the destination is a popular one.  If it proves to be unpopular the airline can always stop 
offering the service.  Similarly, if an airline offers customers the choice of more embarkation 
points they are more likely to attract customers.  If an airline only flew from London it would 
be unlikely to attract passengers from the north of England or Scotland. 
 
They might offer better service.  This might include better quality food or more comfortable 
seats.  Some passengers will be willing to pay more for better service, although the evidence 
is that this is more of a niche market and that the mass market is for the no-frills airlines that 
offer little in the way of service and have even threatened to charge people for using the 
toilets on a plane!  They might offer other extras such as a bigger luggage allowance. 
 
An airline might introduce loyalty schemes such as airmiles/avios. 
 
An airline might do a marketing campaign emphasising its USP. 
 







 


Any other valid point. 
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A02-2
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A04-0



Sticky Note

The candidate suggests at least two appropriate ways that airlines can compete other than by cutting their prices and therefore is awarded two marks for A01. Each of the candidate’s suggestions is supported by appropriate examples and is applied well to their airline industry. Subsequently, the candidate is awarded two marks for AO2, for having demonstrated good application. The candidate demonstrates good analysis by recognising the impact of each of their chosen strategies, for example ‘this will help consumers product [sic] differentiate between the different companies’, ‘may encourage people to become loyal’, ‘this will attract new customers to the company’. There is no evidence of evaluation in the candidate’ response. 
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A02-1
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A01-2
A02-2
A03-2
A04-0



Sticky Note

The candidate suggests multiple ways that airlines can compete other than by cutting their prices and therefore is awarded two marks for A01. Some of the strategies are supported with examples and are appropriately applied to the airline industry in terms of the specific language used. As a result, the candidate gives the impression of good application throughout their answer and is awarded two marks for AO2. The candidate’s analysis is also good as they make several links between each strategy and the impact of pursuing the strategy on their airline. As a result, the candidate is awarded two marks for AO3. There is no evidence of evaluation in the candidate’ response. 
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Sticky Note

The candidate makes several appropriate suggestions of the ways that airlines can compete other than by cutting their prices. Each of these suggestions are supported well with examples that are specific to their airline industry. The candidate uses names of airlines as well as appropriate terminology associated with the airline industry. In terms of analysis, the candidate makes clear links between each strategy and the impact of that strategy on, for example market share and increasing customers. As a result, the candidate achieves two marks for AO1, AO2 and AO3. There is no evidence of evaluation in the response. 
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6.	 The airline industry has been described as an oligopoly. The chart below gives details of the 
market share of the top European airlines.


30.2 % Other


4.2 % Virgin Atlantic Airways


4.3 % British Airways


4.5 % Lufthansa
9.3 % Flybe


10.4 % easyJet


11.6 % Jet2.com


11.9 % Monarch Airlines


13.6 % Ryanair


Source: IATA


	 (a)	 With reference to the information in the chart, describe the main features of an oligopoly.	
			   [4]
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	 (b)	 Discuss the ways that the various airlines might compete with each other apart from 


cutting their prices.	 [8]
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